12 GA, GALV. STEEL
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/(3>
1/4" x 3/4’ HEX HEAD
SCREWS PER BRACKET

2’ 10 BALL STEEL

S*(MIN> STEM ROLLER

W/ 7/16" RETAINER FOR
NON-THREADED SHAFTS

3’ 20 GA. STEEL STRUT

ATTACHED W/(2) 1/4” X 3/4”

HEX HEAD SCREWS AT ENDSTILES AND
AT EACH CENTER STILE ON BOTTOM LEAF

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (2 5/16° x 3/4°

X X)
BOLT & NUT PER BRACKET
TYPICAL TOP FIXTURES 1
N.T.S., TYPICAL CENTER HINGE
N.T.S.

14GA. (MIN.) CENTER HINGE ATTACHED
W/ A TOTAL OF (5> 174" x 3/4°
HEX HEAD SCREWS

(2> SCREWS IN THE TOP LEAF

(3> SCREWS IN THE BOTTOM LEAF

27 10 BALL STEEL ROLLER

W/5’ STEM (MIND
W/ BOLT RETAINER USED
FOR NON THREADED SHAFT

21 MAX
SECTION
HEIFHT

TRBB-375 BOTTOM BRACKET

N.T.S.

20 GA, GALV. STEEL END STILE
ATTACHED TO DOORS SKIN WITH
(@ #8 X 1/2° SCREWS PER STILE

(1> 1/4-20 x 5/8° TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

2° GALV. STEEL TRACK
THICKNESS .083(MIN.)

3 GA. BOTTOM BRACKET BASE
ATTACHED W/(2) 1/4" X 3/4°
HEX HEAD SCREWS

@

16’

INSIDE FLEVATION
N.TS.

13 GA, BOTTOM BRACKET
ASSEMBLY ATTACHED
W/(4) 1/4° X 3/4*

HEX HEAD SCRE\J

(2 ON BASE A

2 ON ROLLER FLANGE)

2’ 10 BALL S_TEEL
S*CMIN> STEM ROLLER
W/ 7/16” RETAINER FOR
NON-THREADED SHAFTS

TRBB-375 BOTTOM BRACKET 4B
N.T.S.

JAMB SEAL 2 X 6 SYP OR SPF
/DPTIDNAL (NO. 2 OR BETTER)
A\ 1/
A\ \ 7~

\\
~

\X

INTERMEDIATE __/
HINGES 14GA (MIN.)

TRACK MOUNTING DETAIL

N.T.S.

-

W/ (5> TOTAL 1/4" x 3/4°

(2> SCREWS UPPER LEAF
(3> SCREWS LOWER LEAF

‘ THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE

N.T.S

12 GA COMMERCIAL
TOP FIXTURE ATTACHED W/(3)
1/4" x 3/4* HEX HEAD SCREWS

ADJUSTABLE SLIDE BRACKET ATTACHED
W/¢2) 1/4" x 1/2* BOLT AND NUTS

STRUT CLIPS(3> ON TOP
ECTION STRUT TO ATTACH
TO CENTER STILES

STRUT CLIP ATTACHMENT 5
N.T.S.

LARGE MISSILE
IMPACT RESISTANT

CFC-FREE EXPANDED

AT EACH END STILE~

POLYSTYRENE INSULATED————om]

R=5.73, U=017

FRONT SKIN
> 5/16” x 1 5/8° 27 GA.
LAG SCREW PER
JAMB BRACKET

s 10 BALL STEEL BOTTOM BRACKET
- ATTACHED
S+ STEM ROLLERS (MIN) v/ > 1y TACHED

HEX HEAD SCREWS

EXTRUDED MODEL
T ATTAGHED Wi SCREVS MODEL #1650 HILLCREST 3000
SECTION A—A (SIDE VIEW) p L R
B | cHecxen BY DATE  00/00/00

TYPICAL END HINGE @

14 GA. MIND WITH THE PROCEDURE DESCRIBED IN DASMA 108-05, & 11505,
END HINGE ROLLER AND ASTM E330-02, E1886—05, E1996-09, & F588-07. THE
CARRIERS. ATTACHED PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED USING
VEx TFEAD SCREWS ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS (5 FEET
OF DOOR WIDTH IN THE END ZONE, ROOF AT ANY SLOPE I=1.0):
WIND SPEED (MPH) | 130 | 118 112 | 107 | 103
EXPOSURE LEVEL B c c D D
MEAN ROOF HEIGHT | 30 15" 25’ 15" 25’
INTERIOR OF GARAGE
—] MAX. WIDTH 160" et

=" AND HALF WAY BETWEEN EACH CENTER STILE

3 20 GA. GALV, STEEL STRUT ATTACHED
W/ (@ 1/4° x 3/4° HEX HEAD
__——SCREWS AT EACH END STILE, CENTER STILE,
(14 TOTAL SCREWS PER STRUT>

W/ (@) 1/4* x 3/4° HEX HEAD
SCREWS AT EACH END STILE & HALF WAY

(14 TOTAL SCREWS & 3 STRUT CLIPS)

3* 20 GA. GALV. STEEL STRUT
ATTACHED ON BOTTOM OF TOP SECTION 12928 ',:gg;ﬂ

oave DEsioN toaps [[ T T TP 1T}

SEE NOTES 1

SPECIFICATIONS AND NOTES

': BETWEEN EACH CENTER STILE, AND
(1> 1/4" x 3/4" HEX HEAD SCREW
& (1> STRUT CLIP AT EACH CENTER STILE

1. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

STRUT CLIP EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+204.8 LBS/FT & —232.8 LBS/FT

2. DOOR SECTIONS SHALL BE 27 GA. MIN. (.0151")
ROLLED FORMED LIGHT COMMERCIAL QUALITY

3. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

DATE  |BY

10/28/13| RIR

END_HINGE
14 GA.

REV | DESCRPTION OF REVISIONS
INTERMEDIATE & BOTTOM SECTIONS: A ADDED GLAZING OPTIONS

(@ 3* 20 GA. GALV. STEEL STRUTS ATTACHED
W/ @ 1/4* x 3/4* HEX HEAD —_
SCREWS AT EACH END STILE, CENTER STILE, MA2( SIZE i
AND HALF WAY BETWEEN EACH CENTER STILE 16, WIDTH %8
(14 TOTAL SCREWS PER STRUT) 14" HEIGHT ég
4 Wi
iL_.—_| DESIGN LOADS | < E
* +25.6 PSF o
- —29.1 PSF g
£
TEST LOADS | B'5
+38.4 PSF | ES
-43.65 PSF | 23
23
LARGE 53
N MISSILE 85
] BACK SKIN IMPACT ss
4 27 GA, RESISTANT | F&

SNy
SO

85829( ;.é_;,
7

4‘“.9

.
Sousecet?

E.O..E. E*\\ {“

ONA\.E“ =

\\\\\.s

Amary

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM

5921-G W. Friendly Ave. ,i;reensboro, NC 27410

#1600 LINCOLN 3000

N.T.S.

DRAWNG NUMBER
IRC-1616-130-15-1]

SHEET 1 OF 3




TABLE 1 TABLE 2
DOOR TRACK ATTACHMENT SPLICE DOOR SECTION HEIGHTS
HEIGHTIA] Bl C| DI E| F | G| H S HEIGHT [Btm | #2 | #3 | #4 | #5 | #6 | #7 | #8
6' 6" 3. 5" 21 n 39" 57" . 70" 14I 0“ 21 " 21 " 21 " 21 " 21 " 21 " 21 " 21 "
T st arfes ol [l ol I R A
78(,5 255) ;? 28,, g‘; ;g 22,, 126" | 21" [ 18" [ 18" | 18" | 18" | 18" | 18" | 21"
AL s i s T _ 120" | 21" | 21" [ 21" | 21" | 21" | 18" | 21"
86 [3.5"21"|42") 63" | 81 %4 o |21 | 21| 21" | 18" [ 18" [ 18" | 21"
9 _[3.5118"136"| 54" | 72" | 90" 100° 0" |21 [ 18| 18" | 18" | 18" 18" 21"
96" |35 21" | 39" | 57" | 75" | 93" 106" 06 |2 [ 2 |2 (27| 21 [ 21
10 [3.5" 21" | 42" | 63" [ 81" | 99" 112" 100" | 21" | 21" | 21" | 18" | 18" | 21"
106" [3.6'| 21" | 42" | 63" | 84" [105" 118" 96" | 21" [ 18" | 18" | 18" | 18" | 21"
1" [35' 21" [ 39" [ 57" | 75" | 93" [111" 124" 90" _[18"[18"[18"[18"| 18" [ 18"
116 [356' 21" | 42" | 63" | 81" | 99" [117" 130" 86" [21"[21"[21"[ 18" [ 21"
12 [3.5"[ 21" | 42| 63" | 84" [105"[123" 136" 80" 21" | 18" ] 18" | 18" | 217
126" [3.5'| 21" | 39" | 57" | 75" | 93" [111"[129"| 142" ; g ;‘ ;‘13 ;? ;? 18
13 [3.5'| 21" | 42" [ 63" | 81" | 99" [117"[135"| 148" et e T
136" [3.5' 21" | 42" | 63" | 84" [105"[123"[141"| 154"
14 35" 21" | 42" | 63" | 84" [105"[126"[147"] 160"
ALL TRACK ATTACHMENT SPACING +/~2" WITH SYP OR SPF NO. 2 OR BETTER ONLY

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WDOD FRAME STRUCTURE
5/16* X 3* LAG SCREWS STARTING 6° FROM ENDS THEN 24’ O.C. (1 1/2° EMBEDMENT>
VERTICAL JAMB ATTACHMENT T
HILTI KWIK BOLT 3/8° X 4° STARTING 6° FROM ENDS THEN 24‘ OC. (2 1/2° EMBEDMENT)
HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6’ FROM ENDS THEN 20° 0.C. <1 1/4* EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLTY 3/8° X 4° STARTING 6’ FROM ENDS THEN 24° OC. (2 1/2' EMBEDMENT)
X 6 _VERTICAL JAMB ATTACHMENT T D W _C-90 BLOCK
SIMPSON 1/4° X -3 TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS
(3 APART> AT 16” O.C. 1 1/2° EMBEDMENT>
HILTI 1/4° X 2-3/4° KWIK-CON II+ SCREWS STARTING 6’ FROM ENDS, USE PAIRS OF
FASTENERS (3 APART> AT 16* O.C. <1 1/4* EMBEDMENT)

VERT. ATTACHMENT T0O GROUT —90 B PSI_GROUTY
HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6’ FROM ENDS THEN 24” 0OC, d 1/4*
EMBEDMENT) (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wOOD JAMBS BY OTHERS

1 1 . A A
WOOD CONCRETE HOLLOW BLOCK
STRUCTURE % STRUCTURE % STRUCTURE % g?gﬂg%ﬂém%
\ \ \ L \
1/2* MIN \ 2-3/4* MIN 1-1/2* |MIN 4

2X6. JAMB
TYP.

EMBEDMENT

3" MIN

DOOR HEIGHT

N

AHHNNIMR

Ty

VERTICAL LIFT

HIGH UFT

I

STANDARD LIFT

L

S
(SPLICE>

D
(THROUGH>
H

o

12 GA. GALV. STEEL
JAMB BRACKETS

ATTACHED W/ (1) 1/4"-20
TRACK SPLICE BOLT & NUT
OR (2) RIVETS

(1) 5/16" DIA. x 1-5/8"
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

SPLICE TRACKS AT THIS LOCATION
W/ (4) 1/4"~20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16” DIA. x 1-5/8"
LAG BOLTS

f SEE (TABLE 1D FOR JAMB BRACKET SPACING

TRACK CONFIGURATION FOR 6'6” UP TO 14’ TALL DOORS

N.T.S.

LOW HEADROOM

AVAILABLE TRACK CONFIGURATIONS

N.T.S.

DATE  |BY

10/28/13| RIR

REV | DESCRIPTION OF REVISIONS
A | ADDED GLAZING OPTIONS -
MAX SIZE o
16’ WIDTH R
14 HEIGHT |33
=T
w g
DESIGN LOADS | < E
+25.6 PSF i
—-29.1 PSF =
gg
TEST LOADS | B4
+38.4 PSF | ES
—43.65 PSF | £3
23
LARGE 3
MISSILE g5
IMPACT 5§
RESISTANT | F&

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

5921-G W. Friendly Ave . ieensboro, NC 27410

MODEL #1600 LINCOLN 3000

MODEL #1650 HILLCREST 3000

SIZE| DRAWNBY  RIR

DATE 1219/

DRAWING NUMBER

Bl cuecken By

DATE  00/00/00

IRC-1616-130-15-1

SHEET 2 OF 3




TABLE 3

Center Stile Locations

Section |\ teasured from Left Edge)
. 1st 2st 3rd 4th

Width@® | oy | oy | Gy | qin)

10' [0 4841 | 71.59

10 |2 4932 | 72.68

10 |4 50.32 | 73.68

70' |6 50.84 | 75.17

10°[8 | 51.84 | 76.17

10 [10 | 52.50 | 77.50

1[0 53.50 | 78.50

T2 54.00 | 79.80

17 |4 55.20 | 80.80

17 |6 56.20 | 81.80

THE 57.20 | 82.80

17 [10 | 47.81 | 94.19

72 [0 48.81 | 95.19

22 49.64 | 96.36

12 |4 50.64 | 97.36

12 [6 50.67 | 99.33

12 [8 51.67 [100.33]

127 [10 | 52.25 [101.75

13 [0 53.00 |103.00

13 |2 54.00 |104.00

13 |4 54.40 |105.60

13 [6 55.40 |106.60

13 [8 56.40 |107.60

13 [10 | 57.16 | 82.94 | 108.71

4 [0 57.76 | 83.94 [110.11

12 |2 58.85 | 84.04 [111.41

14 |4 59.16 | 85.94 [112.71

14 |6 59.86 | 86.94 | 114.01

14 |8 60.56 | 87.94 | 115.31

14 [10 | 61.26 | 88.94 | 116.61

15 [0 61.04 | 89.94 | 117.94

15 |2 62.66 | 90.94 [119.21

15 |4 53.60 | 79.20 | 104.80 | 130.40

15 |6 46.62 | 93.00 | 139.38

TAE 47.62 | 94.00 | 140.38

15 [10 | 48.62 | 95.00 | 141.38

16 |0 49.62 | 96.00 | 142.38

J0OP SECTION

STRUT CLIPS
NTERM AT N

///// ///// /////

/////

STRUT CLIPS

OPTIONA ONG PANEL ECTION STR TILE LAYOUT

TOP_SECTION:

VA|A 4 Al

AAAVA

NTER A SECTION

||avdivaivAlva|vA Al

STRUT CLIPS

I,EI‘PTT%DNA HORT PAN GLAZED SECTION STRUT AN TIL A

.033° GALV STEEL INTERIOR IMPACT WINDOW FRAME

DECORATIVE PLASTIC INJECTION 27 GA. STEEL DOOR SKIN

MOCDED EXTERIOR WINDOW FRAME

S5/16° OVERALL

1/8° CLEAR ANNEALED GLASS
.090° SOLUTIA PVB INTERLAYER
1/8° CLEAR ANNEALED GLASS
MANUFACTURED BY GUARDIAN

2. 3/16° X 1/2* SCREW - USED TO
FASTEN THE STEEL EXTERIOR IMPACT VIND[]V FRAME TD
THE STEEL INTERIOR IMPACT WINDOW FRAM

3. 11/64° X 1/2" SCREW - USED TOD fASTEN DECDRATIVE PLASTIC MOLDED
WINDOW FRAME TO THE ASSEMBLY -

SECTION C-C IMPACT WINDOW DETAIL
N.T.S.

.033° GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5‘ BITE ON GLASS

(10> #8 X 17 PHILLIPS

HEAD SHEETMETAL SCREVS\

055° 6060 EXTRUDED ALUMINUM EXTERIOR FRAME
1/4° MAKROLON POLYCARBONATE
/ MANUFACTURED BY BAYER

/ ({

)

r \

1/8° X 1/8° CONTINUOUS
POLYURETHANE GASKET

.055° 6060 EXTRUDED ALUMINUM
INTERIOR FRAME

SECTION B-B IMPACT WINDOW DETAIL
N.T.S.

384" MAX. DLO

108"
MAX. DLO

ONG_PAN AZING FASTENER DETA
N.T.S.
REV | DESCRIPTION OF REVISIONS DATE  |BY
A | ADDED GLAZNG OPTIONS 10/28/13 RIR
MAX SIZE | z@
16, WDTH_ |88
14 HEIGHT |33
I T
w iz
DESIGN LOADS | x E
+25.6 PSF | =i
-29.1 PSF o
153
. TEST LOADS |S%5
18-1/8* DLO 134 s | EE
-4365 PSF |23
‘ %3
LARGE 2
MISSILE 85
IMPACT 5%
RESISTANT |£E

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM

5921-G W. Friendly Ave., Greensboro, NC 27410

IMPACT GLAZING FASTENER DETAIL

MODEL #1600 LINCOLN 3000

N.T.S.
GLAZING MEETS ASTM E1300-04

MODEL #1650 HILLCREST 3000

SZE| DRAWNBY  RIR| DATE 12/19/1 DRAWNG NUMBER

B | cacke Y DATE  00/00/00

IRC-1616-130-15-1

SHEET 3 OF 3




